
SAP ABAP table VZZBEPP {Transaction data - Planned and actual item}

VZZBEPP

MANDT [CLNT (3)]

DTRANS [DATS (8)]

TTRANS [TIMS (6)]

NTRANS [NUMC (4)]

BUKRS [CHAR (4)]

SBEWART [CHAR (4)]

INTEB [NUMC (2)]

SBEWZITI [CHAR (4)]

SBWHR [CUKY (5)]

SCWHR [CUKY (5)]

SNWHR [CUKY (5)]

SRUNIT [CHAR (5)]

MABER [CHAR (2)]

ZAHLS [CHAR (1)]

MANSP [CHAR (1)]

TRSEDOCNR1 [CHAR (10)]

TRSEDOCNR2 [CHAR (10)]

UZAWE [CHAR (2)]

SSTOGRD [CHAR (2)]

T000

MANDT [CLNT (3)]

 VZZBEPP-MANDT = T000-MANDT 

0..N

0..N

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 VZZBEPP-BUKRS = T001-BUKRS 
0..N

0..N

T008

MANDT [CLNT (3)]

ZAHLS [CHAR (1)]

 VZZBEPP-ZAHLS = T008-ZAHLS 
0..N

0..N

T040S

MANDT [CLNT (3)]

MANSP [CHAR (1)]

 VZZBEPP-MANSP = T040S-MANSP 
0..N

0..N

T042F

MANDT [CLNT (3)]

UZAWE [CHAR (2)]

 VZZBEPP-UZAWE = T042F-UZAWE 
0..N

0..N

T047M

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

MABER [CHAR (2)]

 VZZBEPP-MABER = T047M-MABER 
0..N

1
TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 VZZBEPP-SBWHR = TCURC-WAERS 

0..N0..N
 VZZBEPP-SCWHR = TCURC-WAERS 

0..N
0..N  VZZBEPP-SNWHR = TCURC-WAERS 0..N0..N

TDINTEB

INTEB [NUMC (2)]

 VZZBEPP-INTEB = TDINTEB-INTEB 

0..N

1

TZB03

SBEWZITI [CHAR (4)]

 VZZBEPP-SBEWZITI = TZB03-SBEWZITI 

0..N

0..N

TZB0A

MANDT [CLNT (3)]

RANTYP [CHAR (1)]

SBEWART [CHAR (4)]

 VZZBEPP-SBEWART = TZB0A-SBEWART 

0..N

0..N

TZST

MANDT [CLNT (3)]

SSTOGRD [CHAR (2)]

 VZZBEPP-SSTOGRD = TZST-SSTOGRD 

0..N

0..N

TZUNI

MANDT [CLNT (3)]

SRUNIT [CHAR (5)]

 VZZBEPP-SRUNIT = TZUNI-SRUNIT 

0..N

0..N

VWPOSTDOC

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

GJAHR [NUMC (4)]

DOCNR [CHAR (10)]

 VZZBEPP-TRSEDOCNR1 = VWPOSTDOC-DOCNR 

1

{0,1}

 VZZBEPP-TRSEDOCNR2 = VWPOSTDOC-DOCNR 

1

{0,1}


